U  UXBRIDGE
! HIGH SCHOOL

P M"'q.

Year 6 -7
Transition Pack

Numeracy and Mathematics




Contents and Instructions

Section 1 - Numeracy Ninjas

Try and do one session every day. Give yourself 5 minutes to complete
as much as you can. After you have completed the session, turn to
section 5 to mark your answers.

Section 2 - Primary Numeracy Skills

Aim to do one page from this section every day. These will be marked
by your teachers when you get to Uxbridge High School.

Section 3 - Secondary Numeracy Skills

Aim to do one page from this section every day. These will be marked
by your teachers when you get to Uxbridge High School.

Section 4 - Challenge

If you’re someone who really enjoys mathematical problems and
puzzles, you can challenge yourself by attempting the questions in the
challenge section. You can find answers in section 6.

Section 5 - Numeracy Ninja Answers

Section 6 - Challenge Answers

Section 7 - Notes

Use these pages for any working out or notes you want to make.



Section 1

Numeracy Ninjas



WEEK 1 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS = you may use written calculations
do these in your head do these in your head for these questions
Q | Question Answer | | Q | Question |Answer | | Q | Question Answer
1(2+3 1[2x9=q 1] 61x31
2 |89 +11 2 |24+3=n 2 | 657 - 382
3 | What is half of 3110xo0=80 3172x942
67
4 |6+n=3 4 | 0.7 as a fraction
4 1125-10
5|1x2=n 5 |46.15+5.08
5 [1774+0=270
6|28+7=0 6 | (-40) + (-4)
6 |53=23+D
7 |oxé=54 7 |[fa=4b=3andc=1,
7 | 805 -804 what is the value of
il 3a- b7
8 |4x1=4 504
+4ap it 8 [3-(5)
9 | Wiite 20:12in 10|4+4=0 9 | What s the highest
common factor of 12
12 hour clock Total out of 10
format and 47
10 | 9:37 pm is how 10 | What is the value of 13
many minutes squared?
after 9:08 pm?

Total out of 10

Total out of 10




WEEK 1 SESSION 2 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations
do these in your head do these in your head for these questions
Q | Question Answer | | Q | Question | Answer | | Q | Question Answer
1 |o+4=5 112x9=n 1181x98
2 |38+62 2 (30+5=n 2 | 1596 - 837
3 | What is half of 3(10xno= 3191x13.13
27 100
4 | 20% as a fraction
4 1128-10 4 |[54+n0=6
5 1498+ 1559
5 [120+0=210 5110x7=n
6 | (-18)+3
6 1124 =90 6 [40+10=n
ik 7 | fa=7b=5andc=3,
7 1610 - 606 7 |ox5=15 what is the value of
3b2?
8 |[1x7=17,507 8 |[0+8=8
+1=n 8 | (-1)-(4)
9 |5x1=n
9 | Write 11:07 am 9 | Is 2 a factor of 127
! 10({24+3=n
in 24 hour clock . l)
gl 10 | What is the positive
Total out of 10 value of /647

10 | From 3:01 am,
how many

minutes until
3:19 am?

Total out of 10

Total out of 10




WEEK 2 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations
do these in your head do these in your head for these questions
Q Question Answer | | Q | Question | Answer Q | Question Answer
1 lo+6=10 1|9x5=no 1 13905+5
2 | What is double 2110+2=nD 2 |7+25+5
57
3 |8x0=8 312013+01
3 | Halve 63
4 [16+n=4 4 | 2.26 x 1000
4 126+30
5 |8x4=n 5134-0.74
5198+99
6 115+3=n 6 | Write 56/72 in its
6 |2+10=22+ simplest form
7 |lox2=12
8+0 .
7 | Difference between 4
7 |34223 8 (o+7=1 and -4
8 |20+61=20+ 9 |5x8=o 8 || Value of the dot?
60+ 10| 14+2=0 .
O Laee Total out of 10 0 10
10/0+2=20 '
9 | What is the lowest
Total out of 10 common multiple of 4

and 57

10

What is the cube root
of 277

Total out of 10




WEEK 2 SESSION 2 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS = you may use written calculations
do these in your head do these in your head for these questions
Q Question Answer | | Q | Question |Answer = Q | Question Answer
1 16+o0=10 119x3=n 1| 608+4
2 | What is double 2 |63+9=0D 2 | 1+4x2
7?
3(10x0=20 3(424+8
3 | Halve 31
4 130+0=10 4 | 0.86 x 1000
4 1103 +60
5(10x8=n 5 [27.39-259
5176+77
6 |64+8=D 6 | Write 72/80 in its
6 |43+9=43+7 simplest form
. i 7 |ox2=16 P
7 | Which is the lowest
7 |5+142 8 |o+7=6 number, 2 or -10?
8 [95+13=90+ 9 |4x3=0 8 | Value of the dot?
10+0 10]72+9=n .
T rrrrr T
732 Total out of 10 0 30
10/3+0=20
9 | What is the lowest
Total out of 10 common multiple of 3
and 47
10 | What is the value of (-5)

cubed?

Total out of 10




WEEK 3 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS = you may use written calculations
do these in your head do these in your head for these questions
Q Question Answer Q | Question | Answer Q | Question Answer
1 1o+13=20 1]16xé6=n 1 | 2757 + 5432
2 | Double 96 2 13+3=n 2 |4 +2x4
3 .79+10 3 |4x0=32 3 | Write Four Thousand,
Three Hundred and

4 1120-80 4 |4+0=4 Twenty in digits
518=7+n 5|5x4=n 4 [ 594+10
6 113-10=13- 6 |45+9=0D 5 11x(8)

31 7 lox7=28

SrrE 6 | Round 0.7475t0 1 d.p.

7 185+85=85x .

: 8 |a+b=9 7[1+69)
8 | What is the 9 [4x5=0 8 | Round 0.4559 to 2 s.f.

time on the am —

clock? 10)48+8=n 9 | Letterat (-2, -2)
9 |8+2 Total out of 10
10 | 81 +0=100

Total out of 10
vV W Y Z
10| 10/1 =0/4

Total out of 10




WEEK 3 SESSION 2 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations
do these in your head do these in your head for these questions
Q Question Answer Q | Question | Answer Q | Question Answer
112040=20 1({2x3=no 1 | 271 + 8501
2 | Double 53 2 |7+1=n 2 |(8-2°+3x4
3 151+10 3 |8x0=80 3 | Write 4335000 in
. words. (Use the
4 1100-10 o bt opposite page for your
5 [8=4+0 5|9x5=0 answer)
6 170-11=70- 6|35+7=0 4 108+100
0o 7 |[ox9=81 5| x(9)
S RAEAX ARt 8 01022 6 | Round 61.9361103
ox7 ) d
P
. 9 |8x2=n
8 | What is the 7| (7)+(4)
time on the pm | | 10| 63+9=no
clock? 8 | Round 3096 to 1 s.f.
9 [1+0=10 Total out of 10 9 | Letterat (1,1
y
10 | 66+ 34 A BCDE
PG H A
Total out of 10 Kt MNP
QR S$TU
VW Xy 2
10 | 7/5=35/o

Total out of 10




WEEK 4 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS = you may use written calculations
do these in your head do these in your head for these questions
Q Question Answer | | Q | Question | Answer | = Q | Question Answer
11342 112x7=n 1 | What is 3/9 of 547
2 |0+25=100 2 16+3=0 2 | 964x9
3 | What is half of 3|3xo=21 3 | 1444 - 982
8?
4 [5%6+n0=8 4 |32x825
4 1150-10
5110x9=n 5 | 8/10 as a decimal
5119 +o0=210 number
6 130+10=no
6 197=60+0 6 | 82.23+1.27
71 |ox4=16
7 1135-132 7|36+
8 |o+9=6
8 | 5x8=40,5 8 |lfa=1b=3andc=4,
40:5=n 9 [10x8=0 what is the value of
10[90:10= 4*?
9 | Write 20:11 in s
9 110-(
12 hour clock Total out of 10 0-(9)
format
10 | Is 5 a factor of 217
10 | 07:52 is how
many minutes TOt.' Olﬂ Of 10
after 07:06?

Total out of 10




WEEK 4 SESSION 2 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations

do these in your head do these in your head for these questions

Q Question Answer | | Q | Question | Answer = | Q | Question Answer

1 12+0=5 1110x10=no 1 | Whatis 1/3 of 127
2 | 54+46 2 |8+8=no 2 | 6x225

3 | Halve 6 3|5xo0=40 3 | 6543 - 5498

4 1184-10 4 |20+n0=5 4 [98x48

5 1M +o0=150 519x8=n 5 | 100% as a decimal

number

6 183=60+0 6 |80+8=n

6 | 1.23+46.27

7 1931-926 7 |ox6=18

7| (-24) = (3)

8 | 9x5=45s0 8 [0+7=10

45:5=p 8 |[Ifa=7b=7andc=2,
9 |2x8=0 what is the value of

9 | Write 8:13 am L ac/2b?

in 24 hour dlock 10[12+6=0
9| (3)-(-7
format Total out of 10 (-

10 | From 2:46 am, 10 | What is the highest
how many common factor of 23
minutes until and 207
3:22 am?

Total out of 10

Total out of 10




WEEK 5 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS = you may use written calculations
do these in your head do these in your head for these questions
Q Question Answer | | Q | Question | Answer = Q | Question Answer
1 1o0+9=10 1({7x10=0 1 | What is 25% of £190?
2 | What is double 2 | 21+3=D 2 | 6146 +7
6?
313x0=18 314+5x1
3 | Halve 24
4 [5+0=1 4 | 4622+5
4 1143 +60
511x2=n 5 11000 x 0.64
5 194+97
6 30+3=0 6 | 69.12-92
6 1 41+10=41+ . -
940 7 |ox2=8 7 | Write 35/49 in its
simplest form
7 [1+700 8 |o+3=6
8110-10
8 |314+47=30+ 9 [3xé=o
40 +0 10l 6370 9 | Valueof the dot?
.
7 :f;at s dovole Total out of 10 - |
! 12 15
10  What s halfof 10 | What is the lowest

4?

Total out of 10

common multiple of 6
and 8?

Total out of 10




WEEK 5 SESSION 2 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS = you may use written calculations
do these in your head do these in your head for these questions
Q Question Answer | | Q | Question | Answer |  Q | Question Answer
1 |o+5=10 112x2=n 1 | What is 45% of £140?
2 | What is double 219+3=0 2 | 3996 +4
7?
3 |8xo=16 3(5+10x3
3 | Halve 57
4 [35+n0=5 4 |7474+0.2
4 193+30
512x1=n 5 10.939 x 1000
5 182+84
6110+2=0D 6 | 96.54 - 8.01
b |87+11=87+ -
340 7 |ox6=48 1 | Simplify 2/18
7 114487 8 |ln+8=6 8 | Difference between -10
and 9
8 |14+40=14+ 9|9x3=0 )
40+D 10 70+7=D Value of the dot?
.
2 l T T T T 77
? | Whatis couble Total out of 10 | |
797 0 20
i \7A‘/,hat s halfof 10 | What is the lowest
' common multiple of 7
9
Total out of 10 and 51

Total out of 10




WEEK 6 SESSION 1 - Answer as many questions as you can in 5 mins

MENTAL STRATEGIES - TIMESTABLES - KEY SKILLS - you may use written calculations
do these in your head do these in your head for these questions
Q Question Answer Q | Question | Answer Q | Question Answer
1 117 +0=20 115x10=no 1 | What is the value of
(-15) squared?
2 | What is double 218+6=nD
367 2 | 986 + 3175
3 |9x0=63
3 189+10 3 |J64+8+8
4 132+n0=4
4 1143-20 4 | Write 780026 in words.
5 |3x9=0 (Use the opposite page
515=4+n 6 13:3=0 for your answer)
LN Rt i 7 | ox3e2a 5 | 13.089 + 1000
-0
+2= 6 | (-1) x (-6)
7 |56+56=0x 8 [0+3=10
56 9 [1x3=n 7 | Round 6.5254 to 2 d.p.
8 | Draw hands on 101 10+5=0 8 [ 10+(-5
the clock face
showing 7:05 Total out of 10 9 R<f)und 0.006435t0 1
om s.f.
9 | What is double 10 | Letter 3‘ (-2,-2)
9 ABCDE
10 | Halve 48 BEEE
K L ™ Pax
Total out of 10 QR
VWX

Total out of 10




WEEK 6 SESSION 2 - Answer as many questions as you can in 5 mins
MENTAL STRATEGIES -

do these in your head

TIMESTABLES -
do these in your head

KEY SKILLS = you may use written calculations
for these questions

Q Question Answer Q | Question | Answer Q | Question Answer
1 18+0=20 1|8x1=no 1 | What is the value of 15
squared?
2 | Double 49 2 |28+4=n
2 | 3530 + 6819
3 169+10 3|2xo0=6
3|18-2)x2
4 1196 -80 4 |28+0=4
4 | Write Twenty Four
5 |6=3+0 5 |4x6=0 Thousand, Three
6 153-8=53-3 6 |6+3=n Hundred in digits
—- 7 lox2=8 5 | 43.537 + 100
719=9
- 8 |lo+7=8 6| (8 x1
8 | Draw hands on 9 l8xg=n 7 | Round 227383 t0 1
the clock face dp.
showing 10|80 +10=0
quarter to nine 8 |2+(7)
9 | What is double Total out of 10 9 | Round 27510 1 s.f.

8?

10 | Halve 14

Total out of 10

Letter at (2, 1)

Y
AB&DE
F G H | J
K—bM-N-Pex
QRS TV
vV WX Y Z

Total out of 10




Section 2

Primary Numeracy
Skills



50+ 1000 18 =1
A B Put these cars in order of price, starting
E7 0 with the lowest price.
£3,000 £2.199
C D
ST L
£3.250 £2.800

There are 110 people on a train.

At the next station, 60 people get off the
train and 25 people get on the train.

How many people are on the train now?

What number is the arrow pointing to?

18




606 + 2,525

Round 3,541 to the nearest 100

Round 3,541 to the nearest 1,000

D play a musical instrement

A D do not play a musicd irstrument
120
100

Nunber of B0
children &0

40
20
0

Year 4 Year 6

How many students are there in total in
Year 47

How many more Year 4 children than
Year 6 children play a musical instrument?




50% of 180 35 x 21

Shown are the weights of 3 puppies. .

Work out the mean weight

Waghs
(L

Tess Tete Peao

Here is a number written in Roman
numerals

CXXIV

Write the number in figures

Write down three factors of 28 that are
not factors of 20.




6 X6 125 - 50
O A O A A Complete the tally chart
‘ O O A . _Shnpc | Tally :Fr‘equenqr
=S S = =
ASquore |
:inignigle;

What fraction of this shape is shaded?

Mrs Williams has 80 sweets.
She gives 17 qgirls and 14 boys a sweet.

How many sweets are left?




425 - 170

8 X 44

Arrange these numbers in order, starting
with the largest

15,123 15,200 15,032 15,103

Three points are shown on a grid.
ABCD is a rectangle.

Write down the coordinates of the point D

o

Two of the shapes have been shaded so
that % of the shape is pink.

Which shape has not been shaded % pink?

Shape A

Shape B

Shape C




3.7 + 1.015

Sl M

Find the size of the missing angle
75°

X 80°

In each box, circle the number that is 9

] — 1.1
greater 100

1 1.3

1
2

|

- | S
o
»

A square number and a multiple of 3
have a total of 90. + = 90

What are the two numbers? square number  multiple of 3




Section 3

Secondary Numeracy
Skills



Write the number 1804 in words.

A carton of milk costs 57p

= = =

Find the cost of three cartons of milk

Diagram not
graram accurately

%
Yy

Findy

Sketch the net of a cube

Calculate 50°% of £3

Calculate 10% of £7



Corbettmctths

Martha is buying carrots.
The scale shows the amount she buys

What amount of carrots does she buy?

Kilograms

Write the following numbers in order
of size.

Start with the smallest number.

051 0.2 019 0203 0.6

The time shown on the clock is 9:24am.

Write 9:24am as 24 hour time:

Write 1:15pm as 24 hour time:

Menu
Tea £1.50
Coffee £2.00
Flapjack £2.50

Jack pays for two coffees and two
flapjacks.

Altogether how much do they cost?

Max pays for one tea, one coffee and
one flapjack.

He pays with a £10 note.

How much change should he get?




Anna has eleven fifty pence pieces.

How much money does Anna have in
total?

( ‘mhctt_m(lths

Draw a line parallel to the line AB.

A B

In the diagram, three circles in a straight
line must add to 100.

Write in the missing numbers.

Draw all the lines of symmetry on the
square below

Draw all the lines of symmetry on the
rectangle below

Multiply 29 by 7




The distances, in mies, between four
owns are shown on the map.

Freomie

Work out the distance Corbettimdiths

between Foxville and Mslton.

Lo L]

Look at the four digil cards above.

You can only use each card once.

Creatle the smallest possible two digt odd
number.

Mol

A television costs £275
Work out the cost of two televisions

—

Work out the penmeter of this
rectangle

8cm
3cm
Complete the tally chart Colour Tally Frequency
Blue Blue Red Green White 8'“' ! i
White
Blue White Red Red Red Red
Green

Red Red Green Blue




e~
16 x 10 91 x 100 Corbettmctths
7.2x10 0.6 x 100

Draw a Kite Draw a parallelogram

A ruler costs 65p

A protractor costs 72p
A pencil costs 19p

A pen costs 26p

James buys one ruler, one protractor,
one pencil and one pen.

Work out the total cost.

How much change should he receive from
£5?

Simplify

15
20




Name this solid

v‘v

Corbottm<iths

Name this solid

Write down the value of the 6 in the
number 17629.

Write down the coordinates of the point A

- T B e | Write down the coordinales of the point B
21 A"

|4

_ IOF 0E. T0F "OF T Tl K

Work out 8 squared. Work out 12 squared.

Mary has £1.20

David has £2

How much money should Dawid
gve Mary so they have the same
amount?




Section 4

Challenge



1. How many minutes is it from 23:35 today to 01:15 tomorrow?
A 100 B 110 C 120 D 130 E 140

2. Which of these is equal to (0.1 + 0.2 +0.3 - 0.4) = 0.5?
A 0.01 B 0.02 C 0.04 D 0.1 E 04



3. Sam has eaten three-quarters of the grapes.

What is the ratio of the number of grapes that remain to the number Sam has eaten?
Al:3 B1:4 Cl1:5 D1:6 E1:7

4. Which of the following five shapes can be cut into four pieces by a single straight cut?

A B Cj D E
A

1




5. On Aoife’s 16th birthday, Buster was three times her age. On Aoife’s 21st birthday, how old was
Buster?

A 32 B 48 C353 D 63 E 64

6. Which of these is closest to 7?7
A 7.09 B 6918 C 7.17 D 6.7 E 7.085



Section 5

Numeracy Ninja
Answers



Week | Session |

Mental Strategies Answers

Week | Session |

[~¥]

Whita 20:12n 12 hour ok format 812pm
10 [9:37 pmis how many minutes ofter 908 prd 9
Timestables Answers
Q  |Question Answer
1 2x9=0 18
2 [u+3=0 §
3 ox0=8 8
4 |6=0=3 2
5 [1x2=0 2
6 [s7=0 4
Week 1 Session |
46,15+ 5.0 5.8
6 |40+ (4 10
, Ifa.=4b=3ordc=l,\-hmistheVd\nof30 A
-2
8 [3--5) 8
9 |Whatis tha highast comman factor of 12 and 42 4
10 |What is tha valua of 13 squared? 169

Q  [Question Answer
1 2+3 5
2|89+ 100
3 Whotisholof 8 3
4 [125-10 115
§ im7+0=20 9%
b [=2340 )
7 |605-804 |
§ WX1=4n4s4=0 !
Week | Session |
i

Oxé=54 9
g |0=2=5 10
9 13%x9= 7
10 [44=0 |

Key Skills Answers

R [Queston Answer
LI R 1891
2 |657-382 75
3 |72%942 678.24
4 07 asafroctien 710




Week | Session 2

i
Mental Strafegies Answers
Q  [Question Answer
1 |0+4=§ 1
2 [38+82 100
3 [Whatis half of 28 |
4 128-10 118
§ N2o+0=20 %
6 124=90+[ L]
7 |610-604 4
8 [1x7=27,0741=00 7
Week 1 Session 2
i
0x§=15 3
g |0=8=8 64
9 |5sx1=0 §
10 [24+5=0 8
Key Skills Answers
Q  |Question Answer
1 (61 X9 7938
2 [1596-837 759
3 RIXISNG 119483
4 |20%as a froction 201000r1/5

Week 1 Session 2

i
Writa 11:07 om in 24 hour clock format 11:07
10 [rom 301 b many sl 519 o 1t
Timestables Answers
Q  |Question Answer
1 pxe=0 18
2 [w+5=0 6
3 [lox0=100 10
4 |ssDze 9
5 [lox7=0 7
6 [40=10=0 4
Week 1 Session 2
i
49841559 05
b [-1945 -+
7 ;fo=7b=50ndc=3,wlminhmbwf3bi 7
8 |-)-14 3
0 [s20fo00ref 12 Yes
10 Whotisha peive voheof 642 3




Week 2 Session |

Week 2' Session |

20+61=20+60+[

9 [0+3=s 2
0 [0+2=20 18

Timestables Answers
Q  |Question Aswer
1 xs=0 4
2 [10+2=00 5
3 lsx0=3 1
4 [16+C=4 4

Week 2 Session |

3905 = § 781

2 [42548 12
3 201340 2013
4 [226%1000 260
5 [a4-074 3326
6 [Wie 54/72in s impletfor 70
7 |Difference batwaan 4 and =4 8
8 [See numbar ling [
9 |What s tha kwest common multiple of 4 and 52 20
10 [ Whtis the cubs root of 272 3

Mental Strategies Answers
Q  |Question Answer
1 [0+6=10 4
2 |Whatis double & 10
3 [Howes 315
4 26430 56
5§ [95+99 197
6 [2+10=22+8+0 2
7 (54223 26
Week 2 Session |
M
gx4=[] 32
6 [15+3=0 5
7 |x2=12 6
g |O=7=1 7
9 |§xg=0] 40
10 [14+2=0 7
I
————
Key Skills Answers 0 f0
Q  |Question Answer




Week 2 Session 2

Mental Strategies Answers

Week 2 Session 2

05413200410+ 3
0 [s+2 5
0 |3+0=20 7

Timestables Answers
Q  |Question Answer
1 lox3=0 7
7 |sg+9=00 7
3 lox0=2 2
4 [:0=10 3
Week 2 Session 2

{

608 + 4 152
7 1+4x2 g
3 404+ 5
4 Jossx 100 %0
5 |7am-28 43
b |Wie 72/80 n s sinplet fom 90
7 Whichis he owastnumbar, 2or -10% -10
8 [Seq mumber ling 6
9 [What is tha kowast common multiple of 3 and 43 12
10 [Whotishe vola f (-5 cbseh -125

Q  |Question Answer
1 l6+0=10 4
2 |Whotisdoubha 72 14
3 e 155
4 fos+g0 163
5T 188
6 [43+9=4347+[ 2
7 14 1w

Week 2 Session 2
i

10x=0] ¥
b |sass=00 ]
7 |0x2=16 8
8 [0:7=¢ 0
9 lx3=0 12
0 |[2+9=0 )

\lus of e dof?

S —
Key Skills Answers 0 3
Q  [Question Answer




Week 3 Session |

Mental Strategies Answers

Q  |Quesion fy—
1 0+15=00 7
2 [Doukke 9% 192
3 M0 )
4 |120-80 4
5 ls=7+0 ]
6 |13-10=13-3-0 7

mw Week 3 Session |

sx4=[] 20
6 l5+9=0] 5
7 |0x7=3 4
§ [0s=9 4
9 |l4xs=[ 20
0 l@+8=0 6
s

ABCDL

FGN )

C LM N b

orRsSTY

Key Skills Answers

Y wWwryl

Week 3 Session |

i

85 +85= 85 %11 2
8 |Whatis tha fime on tha dock? 400 am
9 542 10
0 [p1+0=10 19

Timestables Answers
Q  [Question Answer
1 [exé=0 36
2 |s+3=0 1
3 lxO=3 8
4 [4=0=4 |
Week 3 Session |

Question Answer
1 (s e s )
2 |4+2X4 yLl
3 :‘V?';;wﬂnmd,nmﬁmdmdmdwmy "
4 (59410 0.594
5 xpg -4
6 owd 0747501 g, 07
7+ -4
B [lowd 045590234, 046
9 latarat(-2,-2 v




Mental Strategies Answers

Q  [Question Aswer
1 0+0=2 0
2 [k 58 "
3 [s1410 0
& [ioo-10 0
§ [s=4+0 '
& [70-1=70-10- |
Week 3 Session 2
i
9x5=0 s
6 [85+7=[] §
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3 1444 =982 462
4 [82X828 204




Week 4 Session 2

Mental Strategies Answers

Week 4 Session 2

Q  |Question Answer
1 [2+40=$§ 3
2 [S4tab 100
3 |Halved 3
4 |184-10 174
5 [m+l=150 59
b [83=60+0 p&)
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Section 6

Challenge Answers



I. A Itis 25 minutes from 23:35 to midnight and then another 75 minutes from midnight until 01:15.
So the required number of minutes is 25 + 75 = 100.

2. E Notethat(0.1+02+03-04)+05=(06-04)+05=02+05=2+5=04.

3. A Sam has eaten three-quarters of the grapes. So one-quarter of the grapes remain.

l
Therefore the required ratio is -

- =-=1:3
4

=1 w2

straight cut are 3, 2, 3 and 2 respectively. The diagram shows how figure E may be cut

4. E The greatest number of pieces into which figures A to D inclusive can be cut by a single E
into four different pieces by a single cut.

5. C  On Aoife’s 16th birthday, Buster was three times her age, that is 48. It is then five years until
Aoife’s 21st birthday, so Buster’s age at that time was 48 + 5 = 53.

6. B Notethat7.09-7=0.09;7-6.918 = 0.082;7.17-7 = 0.17;7-6.7 = 0.3 and 7.085-7 = 0.085.

So, of the five options, 6.918 is nearest to 7.
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